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There it is different for he - la%ma naR YW 19O 7908 7w an7 SINY
made her forbidden on him one hour while he is alive

OVERVIEW

PrXY 277 7772 RIX 27 explained that the reason she cannot eat 772170 in a case where
her 175 husband said "np amp AR YW w5 A1 07T, is because by making this
stipulation that the vx should be effective while he is still alive, therefore even
though that generally we are not concerned nn Xnw, here it is different. NvOIN
explains the s'X7n3 answer and subsequent challenge.

- By 1ptna AYYA 1AYNT NNINA NYMIN DN NITNIY NYYA 79N WIID
The explanation of this distinction is that in the 71w» where her husband went
overseas, she can eat 7719n since we place her husband on the presumptive

status that he is (still) alive -
- 209N NIDN SN NPINA 1TYI 199N XN YaN

However here (when he said °nn°» 72 nAR 7yw v 1"°77), even if we will place
the husband on the presumptive status that he is alive, nevertheless she cannot
eat 170, for he prohibited her from eating 72170 while he is alive!

mMooIN cites the continuation of the XIMx:
1001 *JONN NYY NI NI Y7IN NDYT 7999

And %95 17 challenged this answer, saying; ‘perhaps she will die first’, so she
was never prohibited in his lifetime from eating 7m7n.

SUMMARY
The dispute is whether this woman has a M0°X NP1 or not.

THINKING IT OVER
Why should a m10°x npini in the future nullify a current a»n npm?!>

" In our X7m3 the text reads nnm o7 (instead of o»nn).

* He was alive previously, so as long as there is no known change this presumption continues.

? See footnote # 4.

* From s'x99 21 question it seems that the answer of >"97 772 R"9 was that this woman has a Mo°X npim, for at some
point in their marriage she will be 710X to eat 7m0 (assuming that their life expectancy is the same; at the very end [at
least] which is >nn% omp nnx 7vw, she will be 711702 91987 7710K), therefore since she has a 0°R np1n, we prohibit her
even now because of a P90 that he will dies shortly (See ‘Thinking it over’). 8"1 challenged this assumption and
maintains that she has no 710°X np1m; it is possible that she will eat 170 her entire life, for she may die first!

> See footnote # 4 and '> M %7 V7.
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